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TNPSC WEEKLY TEST (mock test -3 
                                                       ->27.10.18) 
QUESTIONS :200  TEST CODE: g22e       DURATIONS: 180 MINS 
 
 
1. “When things go wrong, as they sometimes will, 
 When the road you are trudging seems all uphill 
 When the funds are low and the debts the high 
 And you want to smile but you have to sigh,  
 When care is pressing down a bit, 
 Rest, if you must – but don’t you quit” 
 Bring out the Rhyme Scheme in these lines. 
 a) abccba  b) aabbcc  c) abcabc  d) abbacc 

 
2. “And I thought of the albatross and I wished he would come back, my Snake”. 
 Mention the figure of speech used in this line. 
 a) Personification b) Alliteration c) Allusion  d) Simile 
 
3. “O tongues of fire! You come devouring”. 
 Mention the figure of speech used in this line. 
 a) Simile  b) Metaphor  c) Oxymoron  d) Allusion 
 
4. “O tongues of fire! You come devouring Forests of nightshade, creepers that 
 enmesh” 
 Here devouring means 

 a) destroying  b) creating  c) absorbing  d) none of these 
 
5. “And departing leave behind us Footprints on the sands of time”  
 __________ Leaves the footprint. 
 a) The Child    b) The Great Man 
 c) The Great Woman  d) The Angel 
 



 

2 
 

6. The music in my heart I bore 
 Long after it was heard no more 
 These lines are taken from which of the following poem 

 a) Sonnet No 116   b) Womens Rights 
 c) A Psalm of Life   d) The Solitary Repear 
 
7. If you can’t be a pine on the top of the hill 
 Be a scrub in the valley but be 
 The best little scrub by the side of rill 
 These lines are taken from which of the following poem 
 a) Don’t Quit    b) Womens Rights 
 c) Be the Best   d) Where the mind is without fear 
 
8. Nethaji practiced _______ to disciplined himself. 
 a) Yoga  b) Dancing  c) Singing  d) Reading 
 
9. Who was the first (black) South African President? 
 a) Nelson Mandela b) Thabo Mbeiki c) Bill Clinton  d) Vladmir Putin 
 
10. In the Gold Casket, the Prince of Moraco found 
 a) Portia’s picture   b) Portrait of an idot 
 c) Portrait of warning  d) a skull 
 
11. The Prince of Aragon found ________ in the Casket 
 a) Portia’s picture   b) Portrait of an idot 
 c) Portrait of warning  d) a skull 
 
12. “Or, all day, we drive the wheels of iron 
 In the factories, round and round” 
 In which poem do these lines occur? 
 a) The Cry of the Children  b) Migrant Bird 
 c) Shilpi    d) Going for water 
 
13. Which of the following is not a poem? 
 a) The power of Laughter  b) No Men are Foreign 
 c) A Tiger in the Zoo   d) My Grandmother’s House 
 
14. “I won’t look down. No I will not 
 With speed of wings I hasten past”. 
 In whose poem do the following lines occur? 
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 a) Famida Y. Basheer  b) Kamala Surrayya 
 c) Archibald Lampman  d) Rudyard Kipling 
 

15. The Poem ‘Laugh and be Merry’ is written by 
 a) H.W. Longfellow   b) Robert Frost 
 c) Ralph Waldo Emerson  d) John Masefield 
 
16. What is the theme observed in the story “The mark of Vishnu”? 
 a) Upholding patriotism  b) Quest for freedom 
 c) Abolition of communism  d) Riddance of superstition 
 
17. Which of the following is a poem? 
 Choose the right answer from the options given below. 
 a) Wings of Fire   b) Gaia tells her tale 
 c) To India – My Native Land d) The Golden Path 
 
18. Match the names of poets under column A with the names of the poems, under 
 column B and choose the correct code. 
 Column A    Column B 
 A. Thomas Hardy   1) My Grandmother’s house 
 B. Elizabeth Barrett Browning 2) Piano 
 C. D.H. Lawrence   3) The Cry of the Children 
 D. Kamala Surayya   4) The Man He Killed 
  A B C D 
 a) 1 2 3 4 
 b) 1 4 3 2 
 c) 4 3 1 2 
 d) 4 3 2 1 
 
19. “A note as from a single place, 
 A slender tinkling fall that made” 
 These above lines occur in the poem 
 a) Going for Water   b) Beautiful Inside 
 c) The Cry of the Children  d) Migrant Bird 
 
20. Identify the figure of speech used in the following poetic line. 
 In the world’s broad field of battle 
 a) Personification b) Simile  c) Metaphor  d) Oxymoron 
 
21. Walt Whitman wrote the poem “O Captain! My Captain!” as a dirge for the death 
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 of  
 a) John F. Kennedy b) Andrew Jackson c) Woodrow Wilson d) Abraham Lincoln 
 

22. Select the correct answer from the options given below: 
 A statement tells something. But actually it means the opposite is known as 
 a) Paradox  b) Irony  c) Apostrophe d) Litotes 
 
23. Which of the following lines belongs to “Robert Frost”? 

 a) With sixty seconds “worth of distance run” 
 b) Of childish days is upon me, my manhood is cast 
 c) But once within the wood, we paused 
 d) Is waiting its time to share? 
 
24. In which of the poem the following line occurs? 
 “And You O my soul where you stand” 

 a) Be the Best   b) A noiseless patient spider 
 c) Going for water   d) Migrant Bird 
 
25. Which of the following is a drama? 
 a) The Farmer   b) The Merchant of Venice 
 c) Buds to Blossoms   d) Hiroshima 
 
26. In the poem “Migrant Bird” the poet contrasts the life of a migrant bird with that 
 of the  
 a) weapons  b) human beings c) animals  d) enemies 
 
27. Which of the following works is not a poem? 

 a) To The Land of Snow  b) A Psalm of Life 
 c) The Solitary Reaper  d) Laugh and be Merry 
 
28. Which of the following is not a Prose? 
 a) A Dictionary of the English Language 
 b) The Mark of Vishnu 
 c) Snake 
 d) Vision for the Nation 
 
29. Which of the following literary works exhibits the theme of optimism? 
 a) Laugh and be Merry  b) Sonnet No: 116 
 c) The Solitary Reaper  d) The Man he Killed 
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30. Match the characters under Column ‘B’ with the relevant story titles under 
 Column ‘A’. 
 Column A   Column B 

 A. The Necklace  1) Behrman 
 B. Lottery Ticket  2) Morissot 
 C. The Last Leaf  3) Matilda 
 D. Two friends  4) Masha 
  A B C D 
 a)  4 1 3 2 
 b) 3 4 1 2 
 c)  3 1 2 4 
 d) 2 3 1 4 
 
31. Identify the nationality of the author, of the story “The Lottery Ticket”. 
 a) China  b) Russia  c) The U.S.A  d) England 
 
32. Whose autobiography is named “Wings of Fire”? 
 a) Dr. Samuel Johnson  b) Rabindranath Tagore 
 c) Gandhiji    d) Dr. A.P.J. Abdul Kalam 
 
33. Match the characters given under Column ‘A’ with the stories given under 
 Column ‘B’ and select the correct option from those given below: 
 Column A   Column B 
 A. Vera   1) Holiday 
 B. Johnsy   2) The Last Leaf 
 C. Phatik Chakrabarthi 3) The Selfish Giant 
 D. The Cornish Ogre  4) Open Window 
  A B C D 
 a) 4 2 1 3 
 b) 3 4 2 1 
 c) 1 3 4 2 
 d) 2 1 3 4 
 
34. Which of the following is adapted from a short story written by Oscar Wilde? 
 a) A Close Encounter  b) Caught Sneezing 
 c) The Summer Flight  d) Swept Away 
 
35. Which one of the following pairs is matched correctly? 
 a) Manliness by D.H. Lawrence 
 b) The Piano by Rudyard Kipling 
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 c) Going for Water by William Blake 
 d) Beautiful Inside by Paul Holmes 
 

36. Match the folk arts under Column A with their states under Column B: 
 Column A  Column B 
 A. Bihu  1) Tamil Nadu 
 B. Dandya  Das 2) Maharashtra 
 C. Kolattam  3) Assam 
 D. Tamasha  4) Gujarat 
  A B C D 
 a)  4 3 2 1 
 b) 3 4 1 2 
 c) 2 1 3 4 
 d) 1 2 3 4 
 
37. From the given options, choose the poet who has written “Don’t Quit” 
 a) John Masefield   b) Elizabeth Barrett Browning 
 c) Robert Frost   d) Edgar A. Guest 
 
38. Indentify the incorrect pair of British English and American English expressions: 
 a) caretaken – janitor  b) cute – beauty 
 c) pinafore dress – jumper  d) solicitor – barrister 
 
39. Sweater’ in American English is _____ in British English. 
 a) jumper  b) waist coat  c) shirt  d) garment 
 
40. Which period Khalil Gibran belongs to 
 a) 1881 – 1954 b) 1806 – 1861 c) 1861 – 1899 d) 1883 – 1931 
 
41. Which period Edgar Albert Guest belongs to 
 a) 1881 – 1959 b) 1883 – 1931 c) 1806 – 1861 d) 1861 – 1899 
 
42. Match the following: 
 Column A   Column B 
 A. Bihu   1) TamilNadu 
 B. Dhandya Das  2) Maharastra 
 C. Kolattam   3) Assam 
 D. Tamasha   4) Gujarat 
 a) 1 2 3 4   b) 3 4 1 2   c) 2 4 1 3   d) 3 4 2 1 
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43. The other name of Poikkal Kudhirai is 
 a) Oyilattam  b) Thappattam c) Puravi attam d) Bommalattam 
 

44. “Change is not a threat. It is an opportunity” is a saying by 
 a) Eric Hoffer  b) Ambani  c) L. Bourne  d) John 
 
45. “Never accept defeat” is a saying by 
 a) Eric Hoffer  b) Stewaro  c) George patton d) Ambani 
 
46. “You can never plan the future by the past” is a saying by 
 a) Edmund Bruke b) Syrun  c) Peter  d) John 
 
47. Thomas Hardy was died at 
 a) 1926  b) 1928  c) 1929  d) 1930 
 
48. Which short story is not written by Thomas Hardy 
 a) The Fiddler of the Reels  b) Alicia’s Diary 
 c) A Mere Interlude   d) The Sphinx 
 
49. How does the poet describe the world in the poem of “Migrant Bird” 
 a) He has divided it by walls of Caste 
 b) He has divided it by walls of Creed 
 c) He has divided it by walls of Politics 
 d) All the above 
 
50. “The Globe’s my world. The cloud’s my kin”. – Migrant Bird. 
 In this poem Bird feels that the clouds are its 
 a) relatives  b) enemies  c) friends  d) home 
 
51. “I won’t look down. No I will not” – Migrant bird 
 The bird doesn’t want to see man because. 
 a) Man made boundaries  b) Man made hunting 
 c) Narrow lives of man  d) A and C 
                         
 
 
SOWMYA MAM qc  finished (25.10.18) 
 
 
 52. The good we do are always interred with our bones. 
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 Pick out the antonym of interred. 
 a) Buried  b) Exhumed  c) Forgotten  d) Covered 
 

53.  Choose the suitable Question tag from the list given below: 
 Our team will  win the match, --- 
 a) Will it?  b) don’t it?  c) won’t it?  d) doesn’t it? 
 
54. Complete the sentence with a suitable tag. 
 No body saw us, --? 
 a) do they?  b) did they?  c) didn’t they? d) doesn’t he? 
 
55. Select the correct tense form of verb from the below given options: 
 The Queen bee with her workers --- over the hive. 
 a) preside    b) presides   

c) are presiding   d) have been presiding 
 
56. Find out suitable verb for the sentence from the options given below: 
 The street dog – (bite) a small boy ten minutes ago. 
 a) bit   b) has bitten  c) bites  d) was biting 
 
57. Pick out the sentence with the wrong usage of articles: 
 a) The cow is a useful animal 
 b) The rose is the sweetest of all flowers 
 c) Let’s go to the park 
 d) The banyan is a kind of a fig tree 
 
58. Complete the following sentence with suitable articles. 
 On – day of – tea party, Apsara took her mother to Mrs. Rose’s room. 
 a) the, the  b) an, the  c) a, an  d) the,a 
 
59. The correct plural form of the word ‘louse’ is ---- 
 a) louses  b) loves  c) lice   d) lees 
 
60. They have to revise the  syllabus periodically. Which of the following is the right 

plural form of the word underlined.  
 a) Syllabuses  b) Syllabi  c) Syllable  d) Syllabys 
 
61. Identify the sentence which is in the superlative degree.  
 a) All his colleagues are senior to him 
 b) The nearest railway station is two kilometers from here 
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 c) My knife is sharper than yours 
 d) Of the two evils, choose the less 
 

62. Identify the sentence which is in the positive degree 
 a) His age is a matter of minor importance. 
 b) This is the most perfect specimen I have seen. 
 c) The last time I saw him, he was in high spirits. 
 d) The longest lane has a turning 
 
63. Match the following words and phrases given m Column A with their meanings in 

Column B 
 Phrases  Meaning 
 A. put on  1. demolish 
 B. take up  2. leave 
 C. pull down  3. study 
 D. check out  4. wear 
  A B C D 
 a) 3 1 4 2 
 b) 4 3 1 2 
 c) 4 2 1 3 
 d)  3 1 2 4 
 
64. “Soon – not in thirty years but in five to ten – there will be an exodus because of 

the lack of water”. 
 Find out the synonym for the underlined word from the following: 
 a) an end of life   b) a great famine 
 c) mass departure of people d) an exciting argument 
 
65. Identify the kind of sentence. 
 It is really surprising that Sambath has not been arrested by the police. 
 a) Simple    b) Compound  

c) Conditional clause  d) Complex 
 
66. Identify the complex sentence from the following 
 a) Anu was poor but she stood first in the exam 
 b) Anu was poor still she stood first in the exam 
 c) Though Anu was poor, she stood first in the exam 
 d) Despite her poverty Anu stood first in the exam 
 
67. Match the prefixes under Column – A with the words under Column – B and 
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choose the correct code: 
 Column A  Column B 
 A.  post  1. appearance 

 B.  ir   2. alignment 
 C.  dis   3. independence 
 D.  non  4. reparable 
  A B C D 
 a) 1 3 4 2 
 b)  2 4 3 1 
 c) 3 4 1 2 
 d) 4 3 2 1 
 
68. Read the sentence to find out whether there is any error. If there is any error, 

mark the part A, B. C or D as the case may be. 
 Most of the victims (A)/ has underwent first aid (B)/ by the time the (C)/ 

ambulance van reached the accident site (D). 
 a) Most of the victims 
 b) has underwent first aid 
 c) by the time the 
 d) ambulance van reached the accident site 
 
69. Identify the part containing an error. 
 One of the boys (A)/ look (B)/ happy (C)/ in my class (D). 
 a) One of the boys   b) look   

c) happy    d) in my class 
 
70. Match the sentences in Column A with Column B and select the correct answer 

from the options given: 
 Column A     Column B 
 A. I lost my purse    1. Compound Sentence 
 B. A book was written by Meera  2. Active Voice 
 C. The mountain is very steep and  
    I cannot climb it    3. Complex Sentence 
 D. Though he is old, he walks quickly 4. Passive Voice 
  A B C D 
 a) 2 4 1 3 
 b) 4 1 2 3 
 c) 1 2 3 4 
 d) 3 1 2 4 
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71. ‘Good will’, ‘Software’ and ‘gentleman’ are examples of compound words formed 
by joining – and – 

 a) noun and noun   b) adjective and noun 

 c) verb and adverb   d) adverb and noun 
 
72. Which one of the following compound –nouns is wrong? 
 a) Coat – of – mail   b) Governors – general 
 c) Runners – up   d) Grown – ups 
 
73. Choose the correct meaning of the words under Column Band select the code 

containing the answer 
 Column A  Column B 
 A. rumour  1. hit 
 B. pelted  2. false story 
 C. regime  3. flattering 
 D. oily   4. rule 
  A B C D 
 a) 2 1 4 3 
 b) 2 3 4 1 
 c)  2 1 3 4 
 d)  1 3 4 2 
 
74. Which of the following sentences are in active voice? 
 I. They sing songs in the assembly 
 II. A notice was sent by the manager. 
 III. You gave him your pen. 
 IV. He has built a house in his native place. 
 a) Only I, III and IV are correct b) Only II, III and IV are correct 
 c) I, II and III are correct  d) All are correct 
 
75. Which of the following options has a sentence with the verb in the active voice? 
 a) The letter has just been posted 
 b) The bird was killed by a cruel boy 
 c) The cat drank all the milk 
 d) He is loved by all 
 
76. Which one of the following words is an example of a compound word consisting 

of an adverb+participle? 
 a) pale blue  b) well defined c) seafood  d) outsourcing 
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77. Choose the appropriate answer for the noun+verb pattern 
 a) Chessmen  b) Knee deep  c) Sunset  d) Iron box 
 

78. And in his mantle muffling up his face. 
 Here the word mantle indicates 
 a) Cloak  b) Clock  c) Mettle  d) Metal 
 
79. Which one of the following. indirect speeches is answers to the sentence in direct 

speech: 
 Ram said to Seetha, “Please lend me a book”. 
 a) Ram requested Seethe to lend him a book 
 b) Ram ordered Seetha to lend him a book 
 c) Ram exclaimed Seetha to lend him a book 
 d) Ram stated to Seetha to lend him a bock 
 
80. Fill in the blanks with suitable prepositions given below 
 A. There is a pencil …….. the box.  - 1. between 
 B. The cat was sitting  …… the table. - 2. in 
 C. The girl is standing …. the two pillars. - 3. on 
 D. She placed the dishes …. the table. - 4. under 
  A B C D 
 a) 2 4 1 3 
 b) 1 2 4 3 
 c) 3 1 2 4 
 d) 4 2 1 3 
 
81. Identify the sentence pattern in the following: 
 The company chairperson promised them better salary. 
 a) S V IO DO  b) S V O C  c) S V C A  d) S V O A 
 
82. Choose the correct pattern for the sentence: 
 He is a professor with a lot of experience. 
 a) S V O A  b) S V IO DO  c) S V C A  d) S V O C A 
 
83. Substitute the following  with one word  

State in which the few govern the many 
 a) Monarchy  b) Oligarchy  c) Plutocracy  d) Autocracy 
 
84. Find out whether there is any grammatical error in below sentence. 
 An Indian ship / laden with merchandise / got drowned in the Pacific Ocean. 
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 a) An Indian ship 
 b) laden with merchandise 
 c) got drowned in the Pacific Ocean 

 d) No error 
 
85. The study of ancient societies 
 a) Anthropology b) Archaeology c) History  d) Ethnology 
 
86. Find the correct spelt word. 
 a) Agglomeration b) Aglomeration c) Agglomaration d) Aglomaration 
 
87. Fill  in the  Blanks: 

_____ cannot see through translucent materials, but light can pass through ____. 
 a) We / it   b) Anything / their    

c) One / them  d) No one / its  
  
88. Fill  in the  Blanks: 

The government ____ that the tasks _____ with great success. 
 a) is confirming / maintained 
 b) confirms / have been maintained 
 c) was confirmed / have maintained 
 d) will confirm / had been maintained 
  
89. Find the correct spelt word. 
 a) Adulterate  b) Adeldurate c) Adulterat  d) Adultarate 
 
90. Many people who live near nuclear plants are concerned. ------ go wrong, the 

impact on the surrounding are could be disastrous. 
 a) Something would   b) Something will 
 c) Should something  d) Does something 
 
91. Find out the meaning of the idiom. 
 “Fit of Rage” 
 a) anger  b) Graceful  c) Courage  d) Determination 
 
92. Find out the meaning of the given idiom. 
 “Dumb Founded”. 
 a) deserving  b) said   c) moved  d) suprised 
 
93. Find out the synonym: - 
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 BOWER 
 a) think deeply b) fair price shop c) rank  d) going down 
 

94. Find out the synonym of SCOURL 
 a) Frown  b) perhaps  c) letter  d) understanding 
 
95. Find the out the suitable prefix for the word cook. 
 a) De cook  b) Non – cook c) Precook  d) Uncook 
 
96. Find out the suitable prefix for the word POLITE. 
 a) unpolite  b) impolite  c) inpolite   d) non polite 
 
97. Fill in the blanks with SUITABLE option. 
 ______ more help, I could call my neighbor 
 a) needed  b) Should I need c) I have needed d) I should needed 
 
98. Fill in the blank. 
 You need to ______ your essay for spell 
 Spell –check before  you hand in your exam 
  
 a) point out  b) gone over  c) go over  d) give away 
 
99. Fill in the blank with  option. 
 We haven’t had _____ news from our agent. 
 a) some  b) any   c) no   d) none 
 
100. Fill in the blanks with Suitable option. 
 Managers who are ambitions are  
 _______ -oriented managers 
 a) Socially  b) success  c) well   d) non 
 
 
101. Match List - I with List - II 
  List - I       List - II 
 A) Nuclear Test Ban Treaty    - 1. 1999 
 B) The Indus Water Treaty    - 2. 1960 
 C) Foundation of SAARC    - 3. 1963 
 D) The Delhi-Lahore BUS Service launched in - 4. 1985 
 Codes:  
  A B C D 
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 a)  4 3 1 2  
 b)  3 2 4 1 
 c) 2 1 4 3 

 d)  1 3 4 2 
 gl;bay; - I, gl;bay; - II cld; nghUj;Jf. 
  gl;bay; - I    gl;bay; - II  
 a) mZ MAjj; jil xg;ge;jk;  - 1. 1999 
 b) rpe;J ejpePh; xg;ge;jk;   - 2. 1960 
 c) rhh;f; mikg;G cUthf;fk;  - 3. 1963 
 d) nly;yp – yh$h; NgUe;J  

  Nghf;Ftuj;J njhlf;fk;  - 4. 1985 
FwpaPLfs; : 

  A B C D 
 a)  4 3 1 2  
 b)  3 2 4 1 

 c) 2 1 4 3 
 d)  1 3 4 2 

 
 
102. Consider the following statements regarding inflation and 
 I. Core inflation does not include food and energy sectors 
 II. Wholesale Price index does not include service sectors 
 Which of the statements given above is/are incorrect?  
 a) I only  b) II only  c) Both I and II d) Neither I nor II 
 I. gztPf;fk; Fwpj;J fPNo nfhLf;fg;gl;Ls;s thf;fpaq;fis fUj;jpy;   
 nfhs;f. 
 II. Kf;fpa gztPf;fk; czT kw;Wk; Mw;wy; Jiwfis cs;slf;FtJ  
 ,y;iy 
 nkhj;j tpiy FwpaPl;by; Nrit Jiw fzf;fpy; nfhs;sg;gLtjpy;iy 
 Nkw;fz;ltw;Ws; jtwhdJ vJ/vit? 

a) I kl;Lk;   b) II kl;Lk;   c) ,uz;Lk;   d) ,uz;Lkpy;iy 
 
103. Which among the following committee was set up by the Government to 

upgrade norms for State and District economic data collection? 
 a) Ravindra Dholakia Committee b) Viswas Patel Committee 
 c) P.J.Nayak Committee  d) Urjit Patel Committee 
 gpd;tUtdtw;Ws; khepy kw;Wk; khtl;l nghUshjhu juT Nrfhpg;Gf;fhd  
 tpjpKiwfis Nkk;gLj;Jtjw;fhf mikf;fg;gl;l FO vJ? 
 a) utPe;jpu Njhyhf;fpah FO  b) tp];th]; gNly; FO  

c) gp.N[.ehaf; FO   d) ch;[pj; gNly; FO 
 
104. Match the following : 
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 List - I   List - II 
 A) UNICEF - 1. Paris 
 B) WHO - 2. Vienna 

 C) UNESCO - 3. New York 
 D) OPEC - 4. Geneva 
 Codes: 
  A B C D 
 a)  2 3 1 4  
 b)  3 1 4 2 
 c) 3 1 2 4 
 d)  3 4 1 2 
 gl;bay; - I, gl;bay; - II cld; nghUj;Jf. 
   gl;bay; - I     gl;bay; - II   
 A) If;fpa ehLfspd; rpWth; epjpak; (UNICEF)  -  1. ghhp];  
 B) cyf Rfhjhu epWtdk; (WHO)    - 2. tpad;dh 
 C) If;;fpa ehLfs; fy;tp> mwptpay;> 
 gz;ghl;L epWtdk; (UNESCO)     - 3. epA+ahh;f; 
 D) vz;nza; kw;Wk; ngl;Nuhypak; Vw;Wkjp 
 ehLfspd; $l;likg;G (OPEC)      - 4. n[dpth 
  

A B C D 
 a)  2 3 1 4  
 b)  3 1 4 2 
 c) 3 1 2 4 
 d)  3 4 1 2 
 
105. Match the following shapes of bones and examples 
 A. Long bones - 1) Cranial bones and sternum 
 B. Flat bones  - 2) wrist and ankle  
 C. Irregular bones - 3) legs and fingers 
 D. Short bones - 4) Vertebrae coccyx 
 a) 4 1 2 3   b) 1 4 3 2  c) 2 1 4 3  d) 3 1 4 2 
 nghUj;Jf 
 A. ePskhd vYk;G    - 1) kz;ilNahL (k) khh;ngYk;G 
 B. jl;ilahd vYk;G   - 2) kzpf;fl;L (k) fZf;fhy; 
 C. xOq;fw;w tbtk; nfhz;l vYk;G - 3) fhy; kw;Wk; iftpuy; 
 D. Fl;ilahd vYk;G   - 4) thy; vYk;G 
 a) 4 1 2 3   b) 1 4 3 2  c) 2 1 4 3  d) 3 1 4 2 
 
106. Which of there is a Appendicular skeleton? 
 a) skull  b) Pectoral Girdle c) Ribs   d) Sternum 
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 ,tw;wpy; vJ ,izAWg;G rl;lfk; MFk;? 
 a) kz;ilNahL b) Njhs; tisak; c) khh;Gf;$L  d) khh;ngYk;G 
 

107. To be electroplated by Zinc, iron is a cathode, zinc is Anode and electrolyte is 
 _____ 
 a) Zinc Nitrate b) Zinc Sulphate c) Zinc Cloride d) Zinc Carbonate 
 Jj;jehfj;ij kpd;G+r;R nra;a Ntz;Lnkd;why;> ,Uk;G vjph;kpd;thahfTk;>
 Jj;jehfk; Neh;kpd;thahfTk; kw;Wk; _______ kpd;gFspahfTk; ,Uf;Fk;. 
 a) Jj;jehf iel;Nul;  b) Jj;jehf ry;Ngl; 
 c) Jj;jehf FNshiuL  d) Jj;jehf fhh;gNdl; 
 
108. The process of transferring heat without the help of any material or medium is 
 called ______ 
 a) radiation  b) conduction c) convection  d) diffusion 
 ntg;gk; Xhplj;jpypUe;J kw;nwhU ,lj;jpw;F ve;jtpj gUg;nghUs; ClfKk; 
 ,d;wp guTk; Kiwf;F _____ vdg;gLk; 
 a) ntg;gf;fjph;tPry;    b) ntg;gflj;jy; 
 c) ntg;grydk;    d) guty; 
 
109. When strong beam of light is focused on a solution the path of beam becomes 
 visible. This Phenomenon is called Tyndall effect. The is not observed in case of 

 _______ 
 a) Suspension b) True Solution c) Colloidal solution d) None of these 
 typikahd xspfw;iwia fiurypd; topNa nrYj;Jk; NghJ 
 xspf;fw;iwapd; ghijia ghh;f;f KbAk; vd;gJ bz;lhy; tpisT 
 vdg;gLk;. ,j;jifa epfo;T _____ ,y; cz;lhtjpy;iy 
 a) njhq;fy;fs;   b) cz;ik fiury; 
 c) $o;kf; fiury;   d) ,tw;wpy; VJkpy;iy 
 
110. The Second Mysore War came to an end by the Treaty of 
 a) Salbai  b) Mangalore  c) Purander  d) Mysore 
 ,uz;lhk; ik#h; Nghiu KbTf;F nfhz;L te;j cld;gbf;if 
 a) rhy;gha;  b) kq;fSh;  c) Gue;jh;  d) ik#h; 
 
111. The first state which was brought under Wellesley’s Subsidiary System in 1798 
 was 
 a) Oudh  b) Tanjore  c) Surat  d) Hyderabad 
 1798y; nty;ny];yp gpuGtpd; Jizg;gilj; jpl;lj;jpd;fPo; nfhz;L tug;gl;l 
 Kjy; ehL 
 a) mNahj;jp  b) jQ;rhT+h;  c) #uj;  d) i`juhghj; 
 
112. Lord Hastings declared war on Nepal in the year 
 a) 1814  b) 1815  c) 1816  d) 1817 
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 N`];bq;]; gpuG Neghsj;jpd; kPJ Nghh; njhLj;j Mz;L 
 a) 1814  b) 1815  c) 1816  d) 1817 
 
113. Lawrence brothers lent their services in the administration of 
 a) Burma  b) Punjab  c) Bengal  d) Mysore 
 ve;j khfhz Ml;rpf;F yhud;]; rNfhjuh;fs; Nritahw;wpdhh;fs;? 
 a) gh;kh  b) gQ;rhg;  c) tq;fhsk;  d) ik#h; 
 
114. If x2 + 4y2 = 4xy, then x  : y is 
 a) 2:1   b) 1:1   c) 1:2   d) 1:4 
 x2 + 4y2 = 4xy vdwhy; x  : y d; kjpg;G vd;d? 
 a) 2:1   b) 1:1   c) 1:2   d) 1:4 
 
115. A Can do a certain job in 12 days. B is 60% more efficient than A. In how many 

days, B alone can finish the job? 

a) 6 days  b) 7
𝟏

𝟐
days  c) 8 days  d) 8

1

2
days 

 A kl;Lk; xU Ntiyia 12 ehl;fspy; Kbg;ghh;. B vd;gth; AIf;fhl;bYk; 
60% jpwik cilath;. B kl;Lk; jdpahf me;j Ntiyia vjjid 
ehl;fspy; Kbg;ghh;? 

a) 6 ehl;fs;  b) 7
𝟏

𝟐
 ehl;fs;  c) 8 ehl;fs;  d) 8

1

2
 ehl;fs; 

 
116. Find the next alphabet in the series B, E, I, N, ? 
 a) U   b) V   c) T   d) S 
 gpd;tUk; njhlhpy; mLj;JtUk; Mq;fpy vOj;J vJ B, E, I, N, ?  
 a) U   b) V   c) T   d) S 
 
117. A sum of Rs. 1550 was lent partly at 5% and partly at 8% p.a at simple interest. 

The total interest received after 3 years was Rs.300. The ratio of the money lent 
at 5% to that lent at 8% is: 

 a) 5:8   b) 8:5   c) 16:15  d) 31:6 
 &gha; 1550y; xU gFjp 5% tl;b tPjj;jpYk; kw;w gFjp 8% tl;b 

tPjj;jpYk; jdptl;bf;F fldhff; nfhLf;fg;gl;lJ. %d;W tUlq;fSf;F 
gpwF fpilf;Fk; nkhj;j tl;bahdJ &gha; 300 vd;why; 5% f;Fk; 8% f;Fk; 
tplg;gl;l mry;fspd; tpfpjk; vd;d? 

 a) 5:8   b) 8:5   c) 16:15  d) 31:6 
 
118. What is the maximum size & minimum size of a Vidhan Sabha in Indian state, as 

outlined in the Constitution of India? 
 a) 500, 50  b) 400, 40  c) 500, 60  d) 450, 50 
 ,e;jpa khepyq;fspy; cs;s tpjhd; rigapy; Fiwe;jgl;r kw;Wk; mjpfgl;r 

cWg;gpdh;fspd; vz;zpf;if vd murpayikg;Gr;rl;lk; tiuaWj;Js;sJ? 
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 a) 500, 50  b) 400, 40  c) 500, 60  d) 450, 50 
 
 

119. Which of the following statements is not correct about the Rajya Sabha? 
 a) Rajya Sabha is a permanent body 
 b) It was duly constituted for the first time on April 3, 1952 
 c) Twelve of Rajya Sabha members are nominated by the President 
 d) One-third of its members retire every year 
 fPo;f;fz;l $w;Wfspy; uh[;a rigia gw;wp jtwhd $w;W vJ? 
 a) uh[;a rig epue;jukhd mikg;G 

b) Kjy;KiwahfVg;uy; 3> 1952y; cUthf;fg;gl;lJ 
c) 12-cWg;gpdh;fs; FbauRj; jiytuhy; epakpf;fg;gLfpwhh;fs; 
d) xt;nthU Mz;Lk; %d;wpy; xU gq;F cWg;gpdh;fs; Xa;T ngWfpwhh;fs; 
 

 

 
120. Which among the following articles gives the power to the central government to 

take pre-emptive action to protect any state against external aggression & 
internal disturbances? 

 a) Article 355  b) Article 356  c) Article 358  d) Article 360 
 fPo;f;fz;l ve;j \uj;J khepyj;Jf;F ntspehl;L mr;RWj;jy; kw;Wk; 

cs;ehl;L fytuk; Vw;gLk; NghJ kj;jpa muRf;F mjid mlf;Fk; 
mjpfhuk; toq;fpAs;sJ 

 a) \uj;J 355 b) \uj;J 356 c) \uj;J 358 d) \uj;J360 
 
 
121. Which of the following parts of Indian constitution has only one article? 
 a) Part XVII  b) Part XVIII  c) Part XXI  d) Part XX 
 fPo;f;fz;l ve;j gFjpapy; xU \uj;J kl;Lk; cs;sJ? 
 a) gFjpXVII  b) gFjpXVIII  c) gFjp XXI  d) gFjpXX 
 
 
122. Which among the following held the office of Vice President of India for two 

consecutive terms? 
 a) Dr. R Venkatramanan  b) Dr. Shankar Dayal Sharma 
 c) Dr. VV Giri    d) Dr. S Radhakrishnan 
 fPo;f;fz;lth;fspy; ahh; njhlh;e;J ,UKiw Jizf; FbauRj; jiytuhf 

,Ue;jhh;? 
 a) Dr. R. ntq;fl;uhkd;  b) Dr. rq;fh; jahs; rh;kh 
 c) Dr. VVfphp    d) Dr. S. uhjhfpU\;zd; 
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123. The national highway from Amritsar to Calcutta via Delhi is numbered 
 a) 1   b) 2   c) 4   d) 8 
 nly;yp topahf mkph;jru]; Kjy; fy;fj;jh tiu nry;Yk; Njrpa 

neLQ;rhiyapd; vz; vd;d?  
 a) 1   b) 2   c) 4   d) 8 
 
124. ArakanYoma is the extension of the Himalayas located in 
 a) Baluchistan b) Myanmar  c) Nepal  d) Kashmir 
 ,kakiyapd; njhlh;r;rpahd „muf;fd; Nahkh‟ kiynjhlh; fhzg;gLk; ,lk; 
 a) gYrp];jhd;  b) kpahd;kh;   c) Neghsk;   d) fh\;kPh; 
 
125. The Palk Bay lies between 
 a) Gulf of Kachchh and Gulf of Khambhat 
 b) Gulf of Mannar and Bay of Bengal 
 c) Lakshadweep and Maldive Islands 
 d) Andaman and Nicobar Islands 
 ghy;f; tphpFlh vjw;F ,ilNa fhzg;gLfpwJ 
 a) fl;r; tisFlhkw;Wk; fhk;NgtisFlh 

 b) kd;dhh; tisFlh kw;Wk; tq;fhstphpFlh 
c) ,yl;rjPTfs; kw;Wk; khyj;jPTfs; 
d) me;jkhd; kw;Wk; epf;Nfhghh; jPTfs; 

 
126. Which one of the following pairs is correctly matched? 
 a) Teak   : Jammu and Kashmir 
 b) Deodar   : Madhya Pradesh 
 c) Sandalwood : Kerala 
 d) Sundari  : West Bengal 
 gpd;tUk; ,izfspy; rhpahdJvJ? 
 a) Njf;F  : [k;K kw;Wk;; fh\;kPh; 
 b) jpNahlh;  : kj;jpagpuNjrk; 
 c) re;jdkuk ; : Nfush 
 d) Re;jhp  : Nkw;Ftq;fhsk; 
 
127 Which of the following State was awarded for reducing Maternal Mortality under 

Prime Minister Safe Motherhood Campaign? 
a) Tamil Nadu   b) Kerala 

 c) Madhya Pradesh   d) Maharashtra 
 gpujkhpd; ghJfhg;ghd jha;ik gpur;rhuj;jpd; fPo; jha;top ,wg;Gfis 

Fiwj;jjw;fhf ve;j khepyj;Jf;F tpUJ toq;fg;gl;lJ? 
 a) jkpo;ehL    b) Nfush 
 c) kj;jpag; gpuNjrk;  d) kfhuh\;buh 
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128. Consider the following statements : 
 Assertion (A) : Gross National Product will always be more than the GDP. 
 Reason (R)     : To get GNP, Net factor income from abroad is added to the GDP         

   Codes. 
Codes : 

 a) (A) and (R) are true and (R) is the correct explanation of (A) 
 b) (A) and (R) are true but (R) is not the correct explanation of (A) 
 c) (A) is true but (R) is false 
 d) (A) is false but (R) is true 
 gpd;tUk; thf;fpaq;fis fUj;jpy; nfhs;f. 
 $w;W (A) :  nkhj;j ehl;L cw;gj;jp vd;gJ vg;nghOJk; nkhj;j    
    cs;ehl;L cw;gj;jpia tpl mjpfkhf ,Uf;Fk; 
  

fhuzk; (R) : nkhj;j ehl;L cw;gj;jpia ngWtjw;F nkhj;j cs;ehl;L  
    cw;gj;jpAld; ntspehLfspy; ,Ue;J ngwg;gLk; epfu  
    tUkhdj;ij Nrh;f;f Ntz;Lk;. 
 FwpaPLfs; : 
 a) (A) kw;Wk; (R) ,uz;Lk; rhp kw;Wk; (R) vd;gJ (A)-apd; rhpahd   ; 
 tpsf;fkhFk; 
 b) (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R) vd;gJ (A)-apd; rhpahd   ; 
 tpsf;fky;y 
 c) (A) rhp Mdhy; (R)  jtW 
 d) (A) jtW Mdhy; (R)  rhp 
 
 
129. During which five-year plan “NABARD” was established to promote Rural and 

Agricultural credit in India? 
 a) Third five year plan  b) Fifth five year plan 
 c) Sixth five year plan  d) Seventh five year plan 
 ,e;jpahtpd; fpuhkg;Gw kw;Wk; tptrha flid Cf;Ftpg;gjw;fhf „eghh;L 

tq;fp‟ ve;j Ie;jhz;Lj; jpl;lj;jpd; fPo; Jtq;fg;gl;lJ? 
 a) %d;whtJ Ie;jhz;Lj; jpl;lk;  

b) Ie;jhtJ Ie;jhz;Lj; jpl;lk; 
 c) MwhtJ Ie;jhz;Lj; jpl;lk;  

d) VohtJ Ie;jhz;Lj; jpl;lk;  
 
130. During fertilization, pollen tube grows down the style in response to sugars in the 
 style is an example of ________ 
 a) Hydrotropism b) Thigmotropism c) Heliotropism d) Chemotropism 
 fUTWjy; epfo;r;rpapy; kfue;j #oyhdJ #y; jz;by; cs;s rh;f;fiu 
 nghUl;fis Nehf;fp tsh;tJ ________ f;F vLj;Jf;fhl;L MFk;. 
 a) ePh;rhh;girT   b) njhL czh;T rhh;girT 
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 c) xsprhh;girT   d) Ntjprhh;girT 
 
131. The flower of Traaxacum officinale (Dandelion) blooms in the morning and 

 evening it closes : This movement is called ______ 
 a) Photonasty b) Seismonasty c) Thigmonasty d) Nictinasty 
 lhuhf;rk; m/gprpNdy; (lhd;bypahd;) vd;w jhtukyh;fs; fhiyapy; jpwe;j 
 epiyapYk; khiyapy; %ba epiyapYk; fhzg;gLk; ,e;j gz;ig ________
 vd;wiog;gh; 
 a) xspAW tisjy;  b) njhLTW tisjy;  
 c) eLf;fKW tisjy;  d) ,USW tisjy; 
 
132. Guard cells of stomata are green but can’t photosynthesize because 
 a) enzyme zymase is absent 
 b) enzyme RUBISCO is absent 
 c) enzyme RUBISCO and NADP – dehydrogenase are is absent 
 d) enzyme NADP – dehydrogeare is present 
 ,iyj;Jisfspy; cs;s fhg;G nry;fspy; gr;rak; cs;sJ Mdhy; 
 xspNrh;f;if nra;a ,ayhJ Vnddpy;> 
 a) ];a;kh]; vd;w nehjp ,y;iy 
 b) RUBISCO vd;w nehjp ,y;iy 
 c) RUBISCO kw;Wk; NADP - bi`l;Nuh[PNd]; Nghd;w nehjp ,y;iy 
 d) NADP - bi`l;Nuh[PNdy; vd;w nehjp cs;sJ. 
 
133. _________ is an intestinal infection in mammals caused by an adult tape worm. 
 Due to intake of partially cooked pork meat. 
 a) Ascaris infection   b) Filariasis 
 c) Taeniasis    d) Amoebic dysentery 
 Kjph;e;j ehlhg;GOf;fshy; ghY}l;bfspy; Vw;gLk; njhw;Wepiy _________
 vdg;gLk;. ,J rhpahf rikf;fg;glhj gd;wpapiwr;rpid cz;Ztjhy; 
 Vw;gLfpwJ. 
 a) m];fhhp]; njhw;W  b) ahidf;fhy; Neha; 
 c) Bdpahrp];    d) mkPgpf;rPjNgjp 
 
134. Who is best known for Ohm’s law? (V = IR) 
 a) Einstein    b) Newton  
 c) George Simon   d) None of the above 
 xk; tpjpapw;fhf Gfo;ngw;wth; ahh;? 
 a) Id;];Bd;    b) epA+l;ld; 
 c) [hh;[;; irkd;   d) ,th;fspy; ahUkpy;iy 
 
135. Match the following 
 A. Boyle’s law - 1) V ∞ T 
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 B. Charles’s law - 2) P ∞ 
1

V
  

 C. Sablimation - 3) PV = RT 
 D. Gas equation  - 4) Camphor 
 a) 2 1 4 3  b) 4 3 2 1   c) 3 4 2 1  d) 2 3 1 4 
 nghUj;Jf 
 A. ghapy;]; tpjp - 1) V ∞ T 

 B. rhh;y]pd; tpjp - 2) P ∞ 
1

V
  

 C. gjq;fkhjy;  - 3) PV = RT 
 D. vhpthA rkd;ghL - 4) fw;G+uk; 
 a) 2 1 4 3  b) 4 3 2 1   c) 3 4 2 1  d) 2 3 1 4 
 
136. Find the value of 

 
x3− 1

x+3
 ÷ 

x2+ x+1

3x+9
 

 a) 3x – 1  b) 3(x + 1)  c) 3(x – 1)  d) 3x + 2 
 

 
x3− 1

x+3
 ÷ 

x2+ x+1

3x+9
  d; kjpg;igf; fhz;f 

 a) 3x – 1  b) 3(x + 1)  c) 3(x – 1)  d) 3x + 2 
 

137. Find the altitude of an Equilateral triangle whose sides are 3 3 cm 

 a) 27cm  b) 9 3cm  c) 9cm   d) 4.5cm 

 3 3  nr.kP gf;fKs;s rkgf;f Kf;Nfhzj;jpd; Fj;Jauk; vd;d? 

 a) 27 nr.kP  b) 9 3nr.kP  c) 9 nr.kP  d) 4.5 nr.kP 
 
138. Six bells commence tolling together, afterwards they toll at intervals of 2,4 ,6, 8, 

10 and 12 seconds respectively. In 30 minutes, how many times do they toll 
together? 

 a) 4   b) 10   c) 15   d) 16 
 6 kzpfs; Kjypy; xd;whf mbf;Fk;. gpd;dh; mit xd;nwhd;Wk; 2>4>6>8>10 

kw;Wk; 12 tpdhbfs; ,ilntsptpl;L mbf;Fk; vd;why; 30 epkplq;fspy; 
vj;jid Kiw MW kzpfs; xd;whf Nrh;e;J xypj;jpUf;Fk;? 

 a) 4   b) 10   c) 15   d) 16 

 

139. If 
a

b
 = 

4

5
, 

b

c
 = 

15

16
 Find the value 

c2− a2

c2+a2 
 

 a) 
1

7
   b) 

𝟕

𝟐𝟓
   c) 

3

4
   d) 

1

4
 

 
a

b
 = 

4

5
, 

b

c
 = 

15

16
 vd;why; 

c2− a2

c2+a2 
 d; kjpg;igf; fhz;f 

 a) 
1

7
   b) 

𝟕

𝟐𝟓
   c) 

3

4
   d) 

1

4
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140. The length of a rectangle is increased by 60%. By what percent would the width 
have to be decreased so as to maintain the same area? 

 a) 37.5%  b) 60%  c) 75%   d) 120% 

 xU nrt;tfj;jpd; ePsk; 60% mjpfhpf;fg;gLfpwJ. xU nrt;tfj;jpd; mfyk; 
vj;jid rjtPjk; Fiwe;jhy; mjd; Gjpa gug;gsT Ke;ija gug;gsit 
NghyNt ,Uf;Fk;? 

 a) 37.5%  b) 60%  c) 75%   d) 120% 
 
141. A cone, a hemisphere and a cylinder stored on equal bases and have the same 

height. Find the ratio of their volumes 
 a) 3:2:1  b) 3:1:2  c) 1:3:2  d) 1:2:3 
 xU $k;G> xU miw Nfhsk; kw;Wk; xU cUis xNu msitf; nfhz;l 

mbg;gFjpiaAk; rkkhd cauj;ijAk; cilad. mjd; fd msTfspd; 
tpfpjk; fhz;f: 

 a) 3:2:1  b) 3:1:2  c) 1:3:2  d) 1:2:3 
 
142. Match the elements present in living things with the percentage of it and select 
 the respective code 
 A. Nitrogen - 1) 18% 
 B. Oxygen - 2) 2% 
 C. Carbon - 3) 65% 
 D. Calcium - 4) 3% 
 a) 4 1 2 3   b) 3 4 1 2   c) 4 3 1 2  d) 2 1 4 3 
 capUs;stw;Ws; ,Uf;Fk; jdpkq;fisAk; mjDila rjtPjj;ijAk; 
 nghUj;Jf 
 A. iel;u[d; - 1) 18% 
 B. Mf;rp[d; - 2) 2% 
 C. fhh;gd; - 3) 65% 
 D. fhy;rpak; - 4) 3% 
 a) 4 1 2 3   b) 3 4 1 2   c) 4 3 1 2  d) 2 1 4 3 
 
143. The metal with the highest melting point is _______ and its melting point is 
 3410°C 
 a) tungsten  b) platinum  c) Silver  d) Gold 
 mjpf cUFepiyiaf; nfhz;l cNyhfk; _______ MFk; kw;Wk; 
 mjDila 
 a) lq;];ld;  b) gpshl;bdk; c) nts;sp  d) jq;fk; 
 
144. The major elements present in bones are calcium, magnesium, ______ and 
 sulphur 

 a) Sodium  b) Arsenic  c) Potassium  d) Phosphorus 
 vYk;gpy; mjpf mstpy; cs;s jdpkk;> fhy;rpak;> nkf;dPrpak;>________
 kw;Wk; fe;jfk; 
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 a) Nrhbak;  b) Mh;rdpf;  c) nghl;lhrpak; d) gh];gu]; 
 
145. Jonathan Duncan established a Sanskrit college at 

 a) Madras  b) Bombay  c) Calcutta  d) Banaras 
 N[hdhjd; lq;fd; tlnkhopf; fy;Y}hpia epWtpa ,lk; 
 a) nrd;id  b) gk;gha;  c) fy;fj;jh  d) gdhu]; 
 
146. The Widow Remarriage Act was passed in the year 
 a) 1846  b) 1856  c) 1870  d) 1891 
 tpjitfs; kWkz rl;lk; epiwNtw;wg;gl;l Mz;L 
 a) 1846  b) 1856  c) 1870  d) 1891 
 
 
147. Nerkattumseval was captured by 

 a) Col. Heron  b) Col. Campbell c) Colin Jackson d) Puli Thevar 
 ney; fl;Lk; nrty; gFjpia ifg;gw;wpath; 
 a) fh;dy; n`uhd;   b) fh;dy; Nfk;g;ngy; 
 c) fhypd; [hf;rd;   d) Gypj;Njth; 
 
148. In which year the Vernacular Press Act was passed? 
 a) 1878  b) 1882  c) 1898  d) 1902 
 ehl;L nkhop nra;jpj;jhs; rl;lk; nfhz;Ltug;gl;l Mz;L vJ? 
 a) 1878  b) 1882  c) 1898  d) 1902 
 
149. 2nd Global Renewable Energy Investment meeting (REINVEST 2018) was held at 

 a) Chennai  b) Hyderabad  c) Jaipur  d) Noida 
 2tJ cyf GJg;gpf;fjf;f Mw;wy; KjyPl;lhsh;fspd; $Lif (REINVEST 2018) 
 vq;F eilg;ngw;wJ? 
 a) nrd;id   b) i`juhghj;  c) n[a;G+h;   d) neha;lh 
 
150. Consider the following statements about Kangchendzonga National Park : 

I. It became 11th Biosphere Reserve from India that has been included in the 
     UNESCO designated World Network of Biosphere Reserve. 
II. It is also declared as first mixed heritage site from India. 
Which of the statements given above is/are correct? 
a) I only  b) II only  c) Both I and II d) Neither I nor II 
fQ;rd;[q;fh  Njrpa G+q;fh gw;wpa fPo;fhZk; thf;fpaq;fis fUj;jpy; 
nfhs;f. 
I. ,J     UNESCO thy; mq;fPfhpf;fg;gl;l cyf caph;Nfhs tiyaikg;gpy;    
  ,e;jpahtpypUe;J Nrh;f;fg;gl;l 11MtJ caph;f;Nfhsk; MFk; 
II. ,J ,e;jpahtpy; cs;s Kjy; fyg;G ghuk;ghpa ,lkhfTk;   
mwptpf;fg;gl;Ls;sJ 
Nkw;fz;l thf;fpaq;fspy; rhpahdJ vJ/vit? 
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a) I kl;Lk;   b) II kl;Lk;   c) ,uz;Lk;   d) ,uz;Lkpy;iy 
 

151. Match the following : 

  List - I    List - II 
 A) August 12  - 1. World Biofuel Day 
 B) August 7  - 2. National Sports Day 
 C) August 29  - 3. National Handloom Day 
 D) August 10  - 4. World Elephant Day 

A B C D 
 a) 4 3 2 1 
 b) 2 1 4 3 
 c)  1 3 4 2 
 d) 4 3 1 2 
 gl;bay; - I apid gl;bay; - II cld; nghUj;Jf. 
 gl;bay; - I     gl;bay; - II  

A) Mf];l; 12  - 1. cyf caphp vhpnghUs; jpdk; 
B) Mf];l; 7   - 2. Njrpa tpisahl;L jpdk; 
C) Mf];l; 29  - 3. Njrpa ifj;jwp jpdk; 
D) Mf];l; 10  - 4. cyf ahidfs; jpdk; 
 A B C D 
a) 4 3 2 1 
b) 2 1 4 3 
c) 1 3 4 2 
d) 4 3 1 2 
 
 

152. Which among the following language is NOT there in the 8th schedule of 

Constitution of India? 
 a) Dogri  b) Rajasthani  c) Sindhi  d) Manipuri 
 ,e;jpa murikg;Grl;lj;jpy; 8-tJ ml;ltizapy; ,y;yhj nkhop vJ? 
 a) Nlhfphp  b) uh[];jhdp c) rpe;jp  d) kzpg;G+hp 
 
 
153. Which among the following was the first programme launched by Government of 

India to implement the article 47 of the directive principles of state policy? 
 a) Integrated rural development programme 
 b) Community development programme 
 c) National Rural employment programme 
 d) Drought prone areas programme 
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 \uj;J 47-ia eilKiwg;gLj;j ,e;jpa murhy; Kjd; Kjyhf 
nfhz;Ltug;gl;lj; jpl;lk; vJ? 

 
 a) xUq;fpize;jfpuhktsh;r;rpj; jpl;lk; 
 b) rKjhatsh;r;rpj; jpl;lk; 

c) NjrpaCufNtiytha;g;Gjpl;lk; 
d) twl;rpghjpj;jkhepyj; jpl;lk; 

 
 
154. Safeguarding the public Property, developing scientific temper and promoting 

communal harmony come under which of the following? 
 a) Fundamental rights  b) DPSP 
 c) Fundamental duties  d) None of the above 
 nghJnrhj;J ghJfhg;G> mwptpay; czh;Tfis J}z;Ljy;>  

kjey;ypzf;fj;ij Nkk;gLj;Jjy; vd;gJ vjpy; cs;sJ 
 a) mbg;gilchpik  b) muRnewpKiwf; nfhs;if 

c) mbg;gilflik   d) vjpYkpy;iy 
 
155. Which among the following parts of constitution of India, includes the concept of 

welfare states? 
 a) Preamble    b) Fundamental rights 
 c) Directive principles  d) Fourth Schedule 
 ,e;jpa murpayikg;Gr; rl;lj;jpy; kf;fs; ey muR vd;gJ vjpy; cs;sJ? 
 a) Kfg;Giu    b) mbg;gilchpik 
 c) muRnewpKiwf; nfhs;if d) 4-tJ ml;ltiz 

 
156. Which of the following article deals with annual Financial Statement (Budget)? 
 a) Article 108  b) Article 110  c) Article 112  d) Article 115 
 ve;j \uj;J Mz;L epjpepiy mwpf;if gw;w;p $WfpwJ? 
 a) \uj;J108 b) \uj;J 110 c) \uj;J 112 d) \uj;J 115 
 
 
157. Willy willy is 
 a) a type of tree grown in temperate regions 
 b) a wind that blows in a desert 
 c) a tropical cyclone of the north-west Australia 
 d) a kind of common fish found near Lakshadweep islands 
 tpy;yp tpy;yp vd;gJ 

a) ntg;gkz;lyj;jpy; tsUk; kutif 
b) ghiytdg;gFjpapy; tPRk; fhw;W 
c) tlNkw;F M];jpNuypahtpy; tPRk; ntg;gkz;ly Gay; 
d) yl;rjPTgFjpapy; fhzg;gLk; kPd; tif 
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158. Which one of the following is knows as the “Coffee port” of the world? 
 a) Sao Paulo  b) Santos  c) Rio de Janeiro d) Buenos Aires 
 gpd;tUtdtw;wpy; vJ cyfpd; “fhg;gpJiwKfk;”vdmwpag;gLfpwJ? 
 a) rhNthgt;Nyh   b) rhz;Nlh];  

c) hpNah b n[dpNuh  d) gt;Ndh]; Vhp];  
 

159. The largest coral reef in the world is found near the coast of which one of the 
 following countries? 
 a) Australia  b) Cuba  c) Ghana  d) Philippines 
 cyfpd; kpfnghpa gtsghiw jpl;L ve;j ehl;bd; flw;fiuapy; 

fhzg;gLfpwJ 
 a) M];jpNuypah b) fpA+gh  c) fhdh  d) gpypg;igd;]; 
 
160. Which one of the following lakes forms an international boundary between 
 Tanzania and Uganda? 
 a) Chad  b) Malawi  c) Victoria  d) Zambezi 

lhd;rhdpah kw;Wk; cfhz;lh ,ilNa rh;tNjr vy;iyapy; fhzg;gLk; Vhp 
vJ? 

 a) rj;   b) kyhtp  c) tpf;Nlhhpah d) rk;gPrp 
 

161. x
3

2 : 9 = 16 :  x Find the value of x 
 a) ±16   b) ±3   c) ±4   d) ±12 

 x
3

2 : 9 = 16 :  x vd;why; x d; kjpg;igf; fhz;f 
 a) ±16   b) ±3   c) ±4   d) ±12 
 
162. Find 85th term in the series 

 x, x
3

2, x2 , x
5

2 

 a) x
85

2     b) x
45

2    c) 𝐱𝟒𝟑   d) x44  
 85 tJ cWg;igf; fhz;f 

 x, x
3

2, x2 , x
5

2 

 a) x
85

2     b) x
45

2    c) 𝐱𝟒𝟑   d) x44  
 
163. Find the probability of 53 Fridays or 53 Saturdays in a Leap year 

 a) 
1

7
   b) 

2

7
   c) 

𝟑

𝟕
   d) 

4

7
 

 xU yPg; tUlj;jpy; 53 nts;spf;fpoikfs; my;yJ 53 rdpf;fpoikfs; 
tUtjw;fhd epfo;TjfT fhz;f 

 a) 
1

7
   b) 

2

7
   c) 

𝟑

𝟕
   d) 

4

7
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164. Which is in ascending order? 
 vJ VW thpirapy; mike;Js;sJ? 
 a) 8y;.25%> 6y; 40%> 9y; 30%> 15y;; 20% 

 b) 15y; 20%, 8y; 25%, 9y;  30%> 6 y; 40% 
 c) 9y; 30%> 6y; 40%> 8y; 25%> 15 y; 20% 
 d) 15y; 20%> 9y; 30%> 6y; 40%> 8 y; 25% 
 
165. 3 – 25 here, which of the following is suitable in ---So that the number will be a 

perfect square 
 a) 1  b) 4  c) None of the above d) Cannot be determined 
 3 – 25 vd;w vz;zpy; ------- Fwpg;gpl;l ,lj;jpy; ve;j vd; Nghlg;gl;lhy; mJ 

KOth;fkhFk;? 
 a) 1  b) 4  c) ,jpy; vJTk; ,y;iy d) fhz ,ayhJ 
 

166. Which among the following constitutional amendment act, reduced the age of 
voting from 21 years to 18 years? 

 a) 59th Amendment Act  b) 60th Amendment Act 
 c) 61st Amendment Act  d) 62nd Amendment Act 
 ve;j murikg;Gj; jpUj;jr; rl;lj;jpd; %yk; thf;fspf;Fk; taJ 21-ypUe;J 

18-Mf Fiwf;fg;gl;lJ 
 a) 59thmurikg;GjpUj;jr; rl;lk; 
 b) 60thmurikg;GjpUj;jr; rl;lk; 

c) 61stmurikg;GjpUj;jr; rl;lk; 
 d) 62ndmurikg;GjpUj;jr; rl;lk; 
 
 
 
167. The Tenth Schedule of Indian Constitution was added via the : 
 a) 24th Amendment Act  b) 52nd Amendment Act 
 c) 61st Amendment Act  d) 85th Amendment Act 
 murikg;gpy; gj;jhtJ ml;ltiz vjd; %yk; ,izf;fg;gl;lJ? 
 a) 24-tJ murikg;GjpUj;jr; rl;lk; 
 b) 52-tJ murikg;GjpUj;jr; rl;lk; 
 c) 61-tJ murikg;GjpUj;jr; rl;lk; 
 d) 85-tJ murikg;GjpUj;jr; rl;lk; 
 
168. Who among the following has been given rights to legislate on residuary 

subjects? 

 a) State government   
b) Central government 

 c) Both central and state governments 
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 d) President 
 vQ;rpa mjpfhuj;jpy; cs;s cWg;Gfspy; rl;lkpaw;Wk; mjpfhuk; ahhplk; 

cs;sJ 
 a) khepymurhq;fk;   

b) kj;jpamurhq;fk; 
 c) kj;jpakw;Wk; khepymurhq;fk; 
 d) FbauRj;jiyth; 
 
169. Fungi Ashbya gospii and Erymothecium ashbyii are used in the synthesis of 
 _______ 
 a) Ascorbic acid   b) Folate (Folic acid) 
 c) Vitamin – B - riboflavin  d) omega – 3 fatty acids 
 _________ ,d; jahhpg;gpy; m];/g;ah fh]pg; kw;Wk; vhpNkhjPrpak; m];/g; 
 Nghd;w G+Q;irfs; gad;gLfpd;wd. 
 a) m];fhh;gpf; mkpyk;  
 b) /NghNyl; (/Nghypf; mkpyk;) 
 c) itl;lkpd; - B– iuNghgpNstpd; 
 d) xNkfh– 3 – nfhOg;G mkpyk; 
 
170. Which of these pigment does the Red color algae posses? 
 a) Phycoerythrin b) Phycococyanin c) Chlorophyll d) Fucoxanthin 
 ,tw;wpy; ve;j epwkpia rptg;G epw ghrpfs; (My;fh) nfhz;bUf;Fk;? 
 a) igNfhvhpj;hpd; b) igNfhradpd; c) gr;rak;  d) g;A+Nfh]he;jpd; 
 
171. Which of these is used in butterfly to respire? 

 a) Spiracles    b) gills   
 c) nasal cavity   d) skin 
 gl;lhk;G+r;rp> ,tw;wpy; vjid nfhz;L Rthrpf;Fk;? 
 a) fhw;W Jisfs;   b) nrTs;fs;  
 c) ehrpgs;sk;    d) Njhy; 
 
172. In which of these muscles anaerobic respiration occurs? 
 a) Smooth muscles   b) Skeletal muscles 
 c) Cardiac muscles   d) None of the above 
 kdpj clypy; ve;j jirapy; fhw;wpy;yh Rthrk; elf;Fk;? 
 a) nkd;ikahd jir  b) vYk;G jir 
 c) ,ja jir   d) ,tw;wpy; VJkpy;iy 
 
173. The Kheda Satyagraha was launched by Gandhi in support of 
 a) Indigo planters b) Industrial labour c) Peasants  d) Mill workers 
 Nflh rj;ahfpufj;ij fhe;jp ahiu Mjhpg;gjw;fhf njhlq;fpdhh;? 
 a) mThpg; gz;izahsh;fs; b) Miyj; njhopyhsh;fs; 
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 c) Fbahdth;fs;   d) njhopw;rhiy gzpahsh;fs; 
 
174. The South Indian Liberal Foundation was formed in the year 

 a) 1912  b) 1914  c) 1916  d) 1917 
 njd;dpe;jpa ey chpikr; rq;fk; Njhw;Wtpf;fg;gl;l Mz;L 
 a) 1912  b) 1914  c) 1916  d) 1917 
 
175.  Match the following 
 A. Balwantrai Mehta Committee   - 1) 1978 
 B. Community Development Programme  - 2) 1957 
 C. Ashok Mehta Committee   - 3) 1952 
 D. 73rd Constitutional Amendment  - 4) 1993 
 a) 1 2 3 4   b) 2 3 4 1   c) 2 3 1 4   d) 1 3 4 2 
 nghUj;Jf 

a) gy;te;j;uha; Nkj;jh FO - 1) 1978 
b) r%f Nkk;ghl;L jpl;lk; - 2) 1957 
c) mNrhf; Nkj;jh FO  - 3) 1952 

 d) 78tJ rl;lj; jpUj;jk;  - 4) 1993 
 a) 1 2 3 4   b) 2 3 4 1   c) 2 3 1 4   d) 1 3 4 2 
 
176. Consider the following statements : 

I. National Nutritional week was observed from September 01 to 07 with the     
theme “Go further with Food”. 
II. National Nutrition Month was observed in August. 
Which of the statements given above is/are correct? 

a) I only  b) II only  c) Both I and II d) Neither I nor II 
gpd;tUk; $w;Wfisf; fUj;jpy; nfhs;f. 
I. “Go further with Food” vd;w fUg;nghUSld; Njrpa Cl;lr;rj;J thuk;  
nrg;lk;gh; 01 Kjy; 07 tiu mDrhpf;fg;gl;lJ. 
II.  Mf];l; khjk; Njrpa Cl;lr;rj;J khjkhf mDrhpf;fg;l;lJ. 
Nkw;fz;l thf;fpaq;fspy; rhpahdJ vJ/vit? 
a) I kl;Lk;  b) II kl;Lk;  c) ,uz;Lk;  d) ,uz;Lkpy;iy 

 
177. Identify the incorrectly matched pair. 
 a) Safest city in India   - Sagar, Madhya Pradesh 
 b) State with Highest number of 

 farmers suicide in India   - Maharashtra 
 c) State received highest  
                Education Loan    - Tamil Nadu 
 d) State has highest number of 
      Child Marriage    - Kerala 
 jtwhf nghUe;jpAs;s ,iziaf; fhz; 
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 a) ,e;jpahtpd; kpfTk; ghJfhg;ghd  
 efuk;      - rhfh;> kj;jpag; gpuNjrk; 
 b) ,e;jpahtpy; tptrhapfs; mjpfkhf 
 jw;nfhiy nra;J nfhz;l khepyk;  - kfhuh\;buh 
 c) mjpf mstpyhd fy;tpf;fld; ngw;w 
 khepyk;      - jkpo;ehL 
 d) mjpf mstpyhd Foe;ij jpUkzk; 
 eilngWk; khepyk;    - Nfush 
 
 
178. Match List – I with List- II the following : 
  List - I    List - II 
 a) Bajrang Punia  - 1. Wrestling 
 b) Neeraj Chopra  - 2. Javelin Throw 
 c) Swapna Barman  - 3. Heptathlon 
 d) Tajinderpal Singh Toor - 4. Shot put 
 Codes : 
  A B C D 
 a)  1 2 3 4 
 b) 2 3 4 1 
 c)  3 4 1 2 
 d) 4 1 2 3 
 fPo;fhz;gtw;iwg; nghUj;Jf. 
  gl;bay; I   gl;bay; II 
 a) g[;uq; G+dpah  - 1. ky;Aj;jk; 

 b) ePuh[; Nrhg;uh  - 2. <l;b vwpjy; 
 c) ];tg;dh gh;khd;  - 3. n`g;lj;jhshd; 
 d) j[p;d;jh;ghy; rpq; J}h; - 4. Fz;L vwpjy; 
 FwpaPLfs; : 
  A B C D 
 a)  1 2 3 4 
 b) 2 3 4 1 
 c)  3 4 1 2 
 d) 4 1 2 3 
 
179. “Not A Target” is the theme of  
 a) World Elephant Day  b) World Humanitarian Day 

 c) World Musquito Day  d) International Youth Day 
 “Not A Target” vd;gJ vjDila fUg;nghUs;? 
 a) cyf ahidfs; jpdk;  b) cyf kdpjNea jpdk; 
 c) cyf nfhR jpdk;  d) rh;tNjr ,isQh;fs; jpdk; 
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180. Which of the following set of measurements will form a right angle triangle? 

 a) 6,9,12  b) 5,8,10  c) 5,5,5 𝟐  d) 3, 4, 4 2 
 fPNo nfhLf;fg;gl;Ls;sjpy; vJ nrq;Nfhz Kf;Nfhzj;ij mikf;Fk;? 

(gffq;fspd; msTfs; jug;gl;Ls;sd) 

 a) 6,9,12  b) 5,8,10  c) 5,5,5 𝟐  d) 3, 4, 4 2 
 
181. Find the value of 

 
1.75×1.75+2×1.75×0.75+0.75×0.75

1.75 ×1.75−0.75 ×0.75
 

 a) 3.5   b) 6.25  c) 1   d) 2.5 

 
1.75×1.75+2×1.75×0.75+0.75×0.75

1.75 ×1.75−0.75 ×0.75
 d; kjpg;igf; fhz;f 

 a) 3.5   b) 6.25  c) 1   d) 2.5 
 
182. Find the value of 163 + 73 - 233 
 a) 0   b) 7728  c) 7028 d) None of the above 
 163 + 73 - 233 d; kjpg;igf; fhz;f 
 a) 0   b) 7728  c) 7028 d) None of the above 
 
183. Three angles of a triangle are x - 30° , x - 45°, x + 15°. Find the value  of  x 

 a) 60°   b) 40°   c) 80°  d) 100° 
 xU Kf;Nfhzj;jpd; %d;W Nfhzq;fs; x - 30° , x - 45°, x + 15° d; kjpg;igf; 

fhz;f 
 a) 60°   b) 40°   c) 80°  d) 100° 
 

184. If (
7

12
)−4 × (

14

24
)3x  = (

21

36
)5 Find the value of x 

 a) -1   b) 1   c) 2   d) 3 

 (
7

12
)−4 × (

14

24
)3x  = (

21

36
)5  vd;why; ,x d; kjpg;G vd;d? 

 a) -1   b) 1   c) 2   d) 3 
 

185. Who among the following was appointed head of the new commission 
established in 2007 to reexamine centre-state relations? 

 a) Justice Markandey Katju 
 b) Justice R.M. Lodha 
 c) Justice Madan Mohan Punchhi 
 d) Justice K Jagannatha Shetty 
 2007-k; Mz;L kj;jpa-khepy cwTfs; njhlh;ghf mikf;fg;gl;l 

Mizaj;jpd; jiyth; ahh;? 
 a) ePjpaurh; khh;fz;Nlafl;R b) ePjpaurh; R.M.Nyjh 
 c) ePjpaurh; kjd; Nkhfd; Gd;[p d) ePjpaurh; K. n[fehjnrl;b 
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186. Economic and social planning comes under which of the following? 
 a) Union List    b) State List   

c) Concurrent List   d) None of the above 
nghUshjhu kw;Wk; r%f jpl;lkply; vjpy; cs;sJ? 

 a) kj;jpagl;bay;   b) khepygl;bay; 
c) nghJgl;bay;   d) vJTkpy;iy 
 
 

187. In which year, the Government of India had set up the Sarkaria Commission on 
Centre-State relations? 

 a) 1980  b) 1983  c) 1987  d) 1992 
 rh;f;fhhpah jiyikapy; kj;jpa khepy cwTfSf;fhd FO ,e;jpa murhy; 

vg;nghOJ mikf;fg;gl;lJ 
 a) 1980  b) 1983  c) 1987  d) 1992 
 
188. Vishaka Committee is related with 
 a) Honour Killing 
 b) Sexual Harassment in working place 
 c) Women Reservation in government Jobs 
 d) Minority Education 
 tp\hfh FO vjDld; njhlh;GilaJ? 
 a) nfsut nfhiyfs; 
 b) Ntiy nra;Ak; ,lj;jpy; eilngWk; ghypay; nfhLikfs; 
 c) muR Ntiyapy; ngz;fSf;fhd xJf;fPL 
 d) rpWghd;ikaUf;fhd fy;tp 
 
189. Who is the author of the book “Moving on, Moving Forward : A year in Office”? 
 a) Ramnath Govind   b) Narendra Modi 
 c) Banwari lal purohit  d) Venkaiah Naidu 

“Moving on, Moving Forward : A year in Office”? vd;w Gj;jfj;ij vOjpath; 
ahh;? 

 a) uhk;ehj; Nfhtpe;j;  b) eNue;jpu Nkhb 
 c) gd;thhpyhy; GNuhfpj;   d) ntq;ifah ehAL 
 
190. In which place in chennai, Odisa Chief Minister Naveen Patnaik inaugurated the 

“Odisha Bhavan” on 25th September 2018? 

 a) Thiruvottiyar b) Thiruvanmiyur c) Pallikkaranai d) Pallavaram 
xbrh khepy Kjyikr;rh; etPd; gl;ehaf; mth;fshy; 2018 nrg;lk;gh; 25  
md;W nrd;idapy; njhlq;fp itf;fg;gl;l “xbrh gtd;” vq;F 
mike;Js;sJ? 

 a) jpUntw;wpA+h;  b) jpUthd;kpa+h;  c) gs;spf;fuiz  d) gy;yhtuk; 
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191. Find the rate of interest (simple) at which a sum of money becomes 
9

4
times in 2 

years.  

 xU mryhdJ jdptl;b Kiwapy; 2 tUlq;fspy; 
9

4
 klq;F MWfspy; 

tl;btPjk; vt;tsT? 
a) 120%  b) 62.5%  c) 75%  d) 58 % 

 
  

192.    azyx

 = ? 

 a)  𝐚
𝐱𝐲𝐳

  b) (axy )
1

2  c) (ax )
1

y 2           d) None of the above 

 

193. Find the value of a in 
 3+  2

 3−  2
 = a + b  6 

  a) 2   b) 5   c)  5   d)  6 
 
 

  
 3+  2

 3−  2
 = a + b  6 vd;why; a d; kjpg;igf; fhz;f 

  a) 2   b) 5   c)  5   d)  6 
 

194. Find the value of 
1

2
 + 

1

6
 + 

1

12
 + ---------- +  

1

90
 

  a) 0.35  b) 0.50  c) 0.65   d) None 

  
1

2
 + 

1

6
 + 

1

12
 + ---------- +  

1

90
 d; kjpg;igf; fhz;f 

  a) 0.35  b) 0.50  c) 0.65   d) None 
 

195.  30 +   30 +   30 − −− ∝ Find value 

  a) 5   b) 5.5   c) 6   d) None 

   30 +   30 +   30 − −− ∝ d; kjpg;G vd;d? 

  a) 5   b) 5.5   c) 6   d) None 
 
196. Which country has recently announced to launch Mars Mission “Hope” by 2020? 
 a) Iran     b) Iraq    

c) Oman    d) United Arab Emirates 
2020 Mk; Mz;lstpy; nrt;tha; Nfhis Ma;T nra;tjw;fhf “HOPE” vd;w 
jpl;lj;ij nray;gLj;jTs;s ehL vJ? 

 a) <uhd;     b) <uhf;    

c) Xkd;     d) If;fpa muG mkPufk; 
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197. India’s first Transgender Lawyer who hails from Tamil Nadu is ____________ 
 a) Ganga Kumari   b) Joyita Mondal 

 c) Sathyasri Sharmila  d) Prithika Yashini 
 
jkpofj;ij rhh;ej ,e;jpahtpd; Kjy; jpUeq;if tof;FiwQh; __________ 
Mthh;.  
a) fq;fh Fkhhp    b) N[hapjh kz;ly;  
c) rj;a= \h;kpsh    d) gphpjpfh ah\pdp 
 

198. Who is the current chairman of PAC (Public Accounts Committee)? 
 a) LK Advani    b) Arun Jaitley 
 c) Malligarjun Kharge  d) Venkaiya Naidu 

PAC (Public Accounts Committee) d; jw;Nghija jiyth; ahh;? 

 a) LK mj;thdp   b) mUz; n[l;yp  
c) ky;ypfhh;[{d; fhh;Nf   d) ntq;ifah ehAL 
 

 
199. Consider the following statement  
 I. Chipko Movement was started on 26 March 1974 in Uttarkhand 
 II. Sundarlal Bahuguna is associated with this movement 
 Which of the statement given above is/are correct? 
 a) I only  b) II only  c) Both I and II d) Neither I nor II 
 fPo;fhZk; $w;wpid fUj;jpy; nfhs;f 
 I. rpg;Nfh ,af;fk; 1974y; khh;r; 26 Mk; ehs; cj;jufhz;l; khepyj;jpy;             
 njhlq;fg;gl;lJ 
 II. Re;jh;yhy; gFFzh vd;gth; ,e;j ,af;fj;NjhL neUq;fpa 

njhlh;Gilath; Mthh 
;a) I kl;Lk;  b) II kl;Lk;  c) ,uz;Lk;  d) ,uz;Lkpy;iy 
 

200. Ranjan Gogoi, the 46th Chief Justice of India belong to which state? 
 a) Sikkim  b) Manipur  c) Assam  d) Maghalaya 

46 tJ,e;jpa jiyik ePjpgjpahf epakpf;fg;gl;Ls;s uQ;rd; Nfhfha; ve;j  
khepyj;ij Nrh;e;jth;? 

 ;a) rpf;fpk;  ;b) kzpg;G+h;   ; c) m];]hk;  d) Nkfhyhah 
 

 
Answer Key 

 

1. b 2. c 3. b 4. a 5. b 6. d 7. c 8. a 9. a 10. d 

11. b 12. a 13. a 14. a 15. d 16. d 17. c 18. d 19. a 20. c 

21. d 22. b 23. c 24. b 25. b 26. b 27. a 28. c 29. a 30. b 
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31. b 32. d 33. a 34. b 35. d 36. b 37. d 38. b 39. a 40. d 

41. a 42. b 43. c 44. a 45. d 46. a 47. b 48. d 49. d 50. a 

51. d 52. b 53. c 54. c 55.b 56.a 57.d 58.a 59.c 60.b 
61. b 62. a 63.b 64.c 65. d 66.c 67.c 68. b 69. b 70. a 

71.b 72.a 73.a 74.a 75.c 76. d 77. c 78. a 79. a 80.a 

81. a 82. c 83.b 84.c 85.b 86. a 87. c 88. b 89. a 90.c 

91. a 92. d 93.c 94.a 95. c 96. c 97.b 98.c 99.b 100.b 

101.b 102.d 103.a 104.d 105.d 106.b 107.b 108.a 109.b 110.b 

111.d 112.a 113.b 114.a 115.b 116.c 117.c 118.c 119.d 120.a 

121.d 122.d 123.a 124.b 125.b 126.d 127.c 128.d 129.c 130.d 

131.a 132.c 133.c 134.c 135.a 136.c 137.d 138.d 139.b 140.a 

141.d 142.c 143.a 144.d 145.d 146.b 147.b 148.a 149.d 150.c 
151.a 152.b 153.b 154.c 155.c 156.c 157.c 158.b 159.a 160.c 

161.d 162.c 163.c 164.a 165.c 166.c 167.b 168.b 169.c 170.a 

171.a 172.b 173.c 174.c 175.c 176.a 177.d 178.a 179.b 180.c 

181.d 182.d 183.c 184.d 185.c 186.c 187.b 188.b 189.d 190.c 

191.b 192.a 193.b 194.d 195.c 196.d 197.c 198.c 199. c 200.c 

 


